Find the numbers in the following cases.

Toss a coin twice.

2 X2 4 ! l

2 3

The 2 persons plays rock, paper,

scissors.

3 x3 9! l
3 2

Throw 3 dice.

6 x6 x6 216

2 3

A B, C
A C

Towns A, B, and C are connected by the following roads.

How many ways are there to move from A to C?

A B NC AF—_B_NC
S~ Y —
3 x2 6! l
L

When you throw two dice, large and small,how many different outcomes are there?

6

The sum of the dice is 6

(1.5).(2,4)(33)
(4.2).(s.1)

5

12
The sum of the dice is 12

(6.6)

1

10

6

The sum of the dice is
a multiple of 6

ol
[
o

Draw the following tree diagram and find the number of ways.

1,23, 4 1,23, 4
3 2
Line up 3 cards from cards 1, 2, 3,
and 4.
3 3
2<4 1<4
32 oLt
1 4 4
2 1
4<3 4<3
2 2
1<}, 1<35
1 1
(2l e
1 1
4, 3,
24
1,23, 4 1,2, 3

Sort cards 1, 2, 3, and 4.

3—4 3—4
2\4-3 1$a-3
2—4 1-4
. 3<4—2 2 3<4—1
2—3 1-3
4<3—2 4<3—1
2—4 2-3
12 1432
1-4 1-3
3 2<4—1 4 2<3—1
1-2 1-2
41 3
24
100 50
How many ways can you pay the following amount
using 100 yen and 50 yen coins?
400 250
100 50 100 50
0 8
1 6
2 4
3 2
4 0




1 2
How many different ways can you draw a card from a deck of playing cards ? How many different ways can you take out 2 balls in one by one from the bag ?
1) Q) (w, o) 3 1 2 1
Heart card Red card 3red balls , 1 white ball 3 red balls , 1 white ball
v A2,3,4,5,6,7,8,9,10,
J,QK
13
1) s of ol (1)
regardless of color
) _ (2 .
Heart picture card Red picture card ( 1,2 ), ( 1,3 ), ( 1,4 ),
v JQK (2,1 ) (2.3)(24),
3 (3.1)(32)(34),
(4,1),(42)(43)
@ 3 (A )
Picture card Number card 12
3 x4 12
) 1 (2) 1
12 1 red ball
()] (4) red and white order
Heart or picture card Red or picture card
13 12 3 22 (1.4).(2.4)(3.4)
22 white and red order
(4,1)(42)(43)
2
S
When you throw two dice, large and small,how many different outcomes are there? 2

How many different ways can you take out 2 balls in same time from the bag ?

1) 4 (1) 3
The sum of the dice is 4.
(13).(22).(31) ; : ) :
3 3red balls, 1 white ball 3 red balls , 1 white ball
) 8 2) 6

The sum of the dice is 8.

(2,6 ).(3,5)(44)

@ Jardless of o (1)
(5’3),(6,2) regaraless or color
(1,2 ),(1,38),(1,4),
S (2,3),(24),
©) 12 (3) 9 (3,4)
The sum of the dice is 12.
(6,6 ) 6
1
2 1 (2) 1
(4) 4 (4) 3 1 red ball
T e inte of 4. (1,4)(2.4)(34)
3 51 9 3




1,35
18

(1,6), (2 3),
(32) (6 1)

3x6
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32
108

23> 31

8()

31

16
24

20,21,22,23,24

24
23
4 x2




_ 1

1) 2

25 5x5 25

(1,2), (1,2), (1,3), (1,4), (1,5)
(2,1), (2,2), (2,3), (2,4), (2,5)
(3,1), (3,2), (3,3), (3,4), (3,5)
(4,1), (4,2), (4,3), (4,4), (4,5)
(5,1), (5,2), (5,3), (5,4), (5,5)

2 2

20 5x4 20

(1,2), (1,3), (1,4), (1,5)
(2,1), (2,3), (2,4), (2,5)
(3,1), (3,2), (3,4), (3,5
4,1), (4,2), 4,3), (4,5
(5,1), (5,2), (5,3), (5,4)

(3) 2

10 5x4+2 10

(1,2), (1,3), (1,4), (1,5)
(2,3), (2,4), (2,5)

(1)

(2)

(3

(3,4), (3,5)
(4,5)
2
1) 6 (1) 5
(1,5).(2.4).(33)
(4,2).(5,1)
5
2 12 (2) 10
(6,6)
1
3) 6 (3) 5
5 1 6
6

3 ABC

D SN p TN
A/-_\B/‘-\ A B
t::70 i;;;; ¢
3x4 12( [
M—B——Sc | AE——=BoC
N T
3x3 1 10! )
1,2,3,3 1,1,2, 2
3 3
2—3 1—3
1,2
2 1
33 33
2
1<3
3 2<i§
1
3<2
12
A B
4 3
A A
A<B A<B
A< A A< A
B85 8%
A A B A
A Alh
B< A B< A
B85 8%
2X2x2x%x2 16( )
4 2 3 2
4
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1) N

5x5 25( )

(0,0),(0,1),(0,2),(0,3),(0,4)
(1,0),(1,1),(1,2),(1,3),(1,4)
(2,0),(2,1),(2,2),(2,3),(2,4)
(3,0),(3,1),(3,2),(3,3),(3,4)
(4,0),(4,1),(4,2),(4,3),(4,4)

) 4

0.4),(1.3),(22),
(3.1), (4,0)

5

(1)

(2)

~

—

1) N

5x4

5C2 10 (

2x1

(0.2), (0,2), (0,3), (0.,4),
(1.2), (1.3), (1.4),
(2.3), (2,4),

(3.4)

) 4

0,4),(1,3)
2

3) 5

1.4),(2,3)

2

(1)

(3

(4)

—

1) N

s5x4 20( )

(0,1), (0,2), (0,3), (0,4),
(1,0), (1,2), (1,3), (1.4),
(2,0), (2,1), (2,3), (24),
(3,0), (3,1). (3,2), (3.4),
(4,0), (4,1), (4,2), (4,3)

) 4

(0,4), (1,3), (3,1), (4,0

(1)

(2)

4
4 x y z 5 X, Y, 2
0
0—5
0—4
1—4
1—3
2—3
0 1 2—2
3—2
3—1
4—1
4—0
5—0
0—3
0—2
1—2
2 3 1—1
2—1
2—0
3—0
0—1
4 5—0—0
i
21
«C )
X y z
O O O (@} O
7 %6
7C2 21( )
2x1







